FUBAG

JABUI'ATEJIb (HY-1E48F-LK)

O3ULIMU KOJI HAUMEHOBAHUE KOJI-BO
03.06.00* JIBUT'ATEJIb (HY-1E48F-LK) B CEOPE 1
04.01.023.0200 ®UJIBTP BO3AYIIHBIN B CBOPE (1103.1-3 ; 1103.5-6) 1
1 04.01.023.0200+1 ' AMIKA KPBILIKHA BO3YIITHOI'O ®HUJIbTPA 1
2 04.01.023.0200+2 KPBIIIKA BO3/IVIIIHOT'O ®UJIBTPA 1
3 04.01.023.0200+3 ®UJIBTP BO3YIIHBII 1
4 05.04.0011 BUHT (M5x55) 2
5 04.01.023.0200+4 ®UKCATOP 1
6 04.01.023.0200+5 KOPITYC ®UJIBTPA 1
7 04.01.033.0100 KAPBIOPATOP 1
8 04.01.014.0005 [TIPOKJIAJIKA KAPEIOPATOPA 1
9 05.04.0007 BUHT (M5x30) 2
10 04.01.056.0002 AJIAIITEP 1
11 04.01.016.0005 [IPOKJIAJIKA 1
12 04.02.004.0500 KOJIITAYOK CBEUM 3AXKUT AHUS 1
13 04.02.004.0500+1 [IPY)KMHA 1
14 04.01.003.0400 CBEYA 3AXHWI'AHHUSA 1
15 05.04.0006 BUHT (M5x25) 6
16 05.06.0003 LIAMBA (M6x18x1.5) 1
17 04.02.001.050* KPBIIIKA LIUJIUHJIPA 1
18 05.04.0003 BUHT (M5x14) 1
19 04.01.068.0002 [TPOKJIAJIKA 1
20 04.01.013.0003 [IPOKJIAJZIKA TJIYILIUTEJIS 1
04.01.051.0101 [JIYIIUTED
21 04.01.112.0002 3AXKHIM
04.01.111.0002 TPYBKA
22 05.04.0463+1 LIIAWBA TTPYKUHHAS M8 1
23 05.04.0463 BUHT (M8x25) 2
24 05.04.0002 BUHT (M5x12) 1




25 04.01.005.0004 UJINH]IP 1
26 04.01.015.0006 [TPOKJIAJIKA LIUJIMH/IPA 1
27 04.01.008.0003 KOJIBLIO ITOPIIHEBOE (1) 1
28 04.01.008.0004 KOJIBLIO ITOPIIHEBOE (2) 1
29 04.01.006.0003 [IOPIIEHb 1
30 04.01.010.0008 KOJIBLIO CTOIIOPHOE 1
31 04.01.007.0005 [TAJIEL] TIOPIIIHS (6x10x40) 1
32 04.01.009.0003 HOJIINITHUK UT'OJIBYATBIM (10x14x15) 1
33 04.01.002.0004 KOJIEHBAJI 1
34 05.09.0001 LLITIOHKA (3x13) 1
35 05.03.0001 LITUDT (4x8) 2
36 04.01.017.0008 [TPOKJIAJIKA KOPITYCA KAPTEPA 1
37 05.02.0003 O JIINITHUK 6202 2
38 04.01.052.0101 KOPITYC KAPTEPA (B) 1
39 04.01.043.0003 CAJIBHUK(15x25x7) 2
40 05.04.0008 BUHT (M5x35) 4
41 04.01.012.0005 KATVILKA 3AXWT AHUS 1
42 04.01.012.0005+1 [TPOBOJ] KHOITIKM BKJIKOUEHHS 1
43 04.01.001.0003 MAXOBUK 1
44 05.06.0004 LIIAMBA (ctams) (M10x20x1.8) 1
45 05.06.0300 [LIAMBA TTPYXKUHHAS M10 1
46 05.05.0606 TAMKA (M10x1x9) 1
47 04.01.011.0503 CTAPTEP B CEOPE 1
04.02.008.0200 TOIUIMBHBIN BAK B CBOPE (¢ nom. ¢unsTpom) (1103.48-60;69) 1
48
:3 04.01.047.0002 T0HJI1/1BHq:?jIyEJT:TI;I;f?eEEEEMiSpBy(gEf Tfr?ﬁiipenm;)) 1
51
52 05.04.0202 BUHT (M5x30) 3
53 04.02.008.0200+1 TOTIJIMBHBIN BAK 1
54 04.02.008.0200+2 JIEMIT®EP 2
55 04.02.008.0200+3 OI' AHUYUTEJIb IIPOBKU TOIIJIMBHOI'O BAKA 1
56 04.02.008.0200+4 KOITAUOK 1
57 04.02.008.0200+5 KOJIITAYOK PE3MHOBBIH 1
58 04.02.008.0200+6 KJIATIAH KPBIIIKH TOIUIMBHOI'O BAKA 1
59 04.02.008.0200+7 VIUIOTHEHUE TOIUIMBHOM KPBILLIKHA 1
60 04.02.008.0200+8 KPBIIIKA TOIUIMBHOI'O BAKA 1
61 05.04.0004 BUHT (M5x16) 1
62 04.02.023.0001 [TPOKJIAJIKA 1
63 04.01.052.0100 KOPITYC KAPTEPA (S) 1
64 04.01.020.0102 CLIEITJIEHME B CBOPE (4 CUTMEHTA) 1
64 04.01.020.0103 CLEIIJIEHUE B CBOPE (2 CUTMEHTA) kox ans 3akaza!!! 1
65 05.04.2005+1 LIIAMBA (crans) M6 1
66 05.06.0302 LIIAWBA TIPYKUHHAS M6 1
67 05.04.2005 BUHT (M6x16) 1
68 05.04.0006 BUHT (M5x25) 1
69 04.02.008.0200+9 CAITYH 1
70 04.03.041.0013 IIIAIBA TPOBEPA 1
71 05.04.0306 BUHT (M5x20) 12.9D 4
72 05.04.0005 BUHT (M5x20) 1




	двигатель

